2/3DeVICHEE

S == ®5H 12— xHME(R)
TEYXEYY 33mg Dayl-3
il N N 67mg/m Dayl-3 ’1
ARR77IF 1.0g/m Dayl1-3
ALRTS5F 200mg/ ni Dayl
A-AVDEE =
ERAZEA = ®5H 10— x#M[H(8)
TLYVESRTREF Y 1.2mg/ke Day1,15
NE IR % 25mg/m Dayl,15 23
Y77 XFv 6mg/m Day1,15
ZHILIND v 375mg/m Dayl,15
ABVD#E %
EARZEA = ®5H 12— x#R(8)
NE IR % 25mg/m Dayl,15
TJLAwA v 10mg/m Dayl1,15 ’8
Y77 RFv 6mg/m Day1,15
AN > 375mg/m Day1,15
BRE % (#)[E])
ERAZEA RE ®5H 1a—XHME(R)
RNy ZLRTF > 90mg/m Day2,3 -
IVE DA 375mg/m Dayl
BRiEE = (#E+r)
EARZEEA = ®5H 12— X #MR(8)
Ny ZLRATF > 90mg/m Dayl,2 -
Jwxo<7 375mg/m Dayl
CHOEPE %
EAREA HE ®5H 12— xHME(8)
AR A7 73K 750mg/m Dayl
NE YN 50mg/ m Dayl
o URFv 2mg Dayl 21
T hRIF 100mg/m Day1-3
A = = 100mg Dayl-5
CHOPE %
EE S == ®5H 12— xHME(R)
YORAKRRAT7 7 IR 750mg/m Dayl
NE P 50mg/ m Dayl ’1
o URFv 1.4mg/m Dayl
L r=vov 100mg Dayl-5
daEPOCH# % (level 1)
ERAZEA RE ®5H 13— XHEME(R)
ThARVE 50mg/m Dayl-4
L R=vayv 60mg/ m Dayl-5
Yo URTF 0.4mg/ ni Day1-4 21
YORAKRRAT7 7 IR 750mg/m Day5
FExyLes s 10mg/ni Dayl-4




daEPOCHEE % (level 2)

EARZEEA HE ®5H 1a—x#/R(8)
IThRVF 60mg/m Dayl-4
L r=vov 60mg/m Dayl-5
Ey s URTFY 0.4mg/ ni Day1-4 21
YA KRAT7 7 IR 900mg/m Day5
NE SRV 12mg/m Dayl-4
daEPOCH#E % (level 3)
ERAZEA HE ®5H 13— XHEME(R)
ThARVE 72mg/m Dayl-4
L R=vayv 60mg/m Dayl-5
e URFv 0.4mg/m Dayl-4 21
YORAKRRAT7 7 IR 1080mg/m Day5
FEyiLes s 14.4mg/ i Dayl-4
daEPOCH# % (level 4)
ERAZEA HE ®5H 1a—XHEME(R)
TR R 86.4mg/m Dayl-4
VAV =Y s D 60mg/ m Dayl-5
DS 0.4mg/ ni Day1-4 21
YUAORRT7 7 IR 1296mg/m Dayb
NE SN 17.3mg/m Dayl-4
daEPOCH#& % (level 5)
ERAZEEA HE ®5H 1a—XHME(8)
T RS R 103.7mg/ nd Dayl-4
L R=vav 60mg/m Dayl-5
E>oURFv 0.4mg/m Dayl-4 21
YUARRT7 7 IR 1555mg/ m Dayb
NE IR % 20.7mg/m Dayl-4
daEPOCH% % (level 6)
S HE ®5H 12— x#ME(8)
T hRIF 124.4mg/m Dayl-4
L r=vov 60mg/m Dayl-5
o URFv 0.4mg/m Dayl-4 21
YYURKRAT77Ib 1866mg/m Dayb
NESP I 24.8mg/m Dayl-4
DeVICHE %
EAEA HE ®5H 12— x#MR(8)
TEU ARV 33mg Dayl-3
T hRIF 100mg/m Day1-3 ’1
AKRR77IF 1.5g/m Dayl-3
hIVKRTZF v 300mg/ m Dayl
GBEE = (#1[E])
ERAZEA = ®5H 10— X #[E(8)
FEXYATT 1000mg Dayl,8,15 28
RYBZLAF 90mg/m Dayl,2




GBEE(2~6 3—XH)

S == ®5H 12— xHME(R)
FEXYXTT 1000mg Dayl 23
RNYZLRTF > 90mg/ m Dayl,2
GCDRE -
ERAZEA RE % 5H 10— x#MRE(8)
TLYREY 1000mg/m Dayl,8
hVKRTZF v AUC=5 Dayl ’1
TEY AR 33mg Dayl-4
IRVE D 375mg/m Day8
GCD&E
EAREA =3 ®5H 12— x#MR(8)
TLYRE Y 1000mg/m Day1,8
AIWVRTZF v AUC=b Dayl 21
TEY AR 33mg Dayl-4
HD-Ara-C [CNSL) #i[E %
EAREA = ®5H 12— x#fR(8)
vRZEY 3000mg/m Dayl,2 28
HD-MTX [CNSL] &%
EARZEEA = ®5H 12— X #MR(8)
XMMLFEY—F 3500mg/m Dayl 14
PolaBRE % (#1[2])
EARZEEA = ®5H 12— X #MR(8)
RIVATT RRKF v 1.8mg/kg Day?
RNy ZLAF v 90mg/m Day2,3% 7-ixDay3,4 21
IVE DA 375mg/m Dayl
PolaBR¥Z % (HE55)
EARZEEA = ®5H 10— x#/R(8)
RIYRIYT REF v 1.8mg/kg Dayl
RYZLAF v 90mg/m Dayl,2 21
Dyxo<7 375mg/m Dayl
R-CHOP#RsE R (#[E)
EARZEEA = ®5H 10— x#/R(8)
INVE DA 375mg/m Dayl
AR A7 73K 750mg/m Day?
FExyLes 50mg/ Day? 21
o URFv 1.4mg/m Day?2
L R=voy 100mg Day2-6
R-CHOPEE L (#tH%)
ERAZEA = ®5H 13— XHEME(R)
kw7 375mg/ ni Dayl
YORAKRRAT7 7 IR 750mg/m Dayl
NE DI 50mg/ m Dayl 21
o URFv 1.4mg/ m Dayl
TLrkz=voyv 100mg Dayl-5




R-ICEEEGEFR T F 1) v RE)

EARZEEA RZE ®5H 1a—x#/R(8)
I 375mg/ i Day1,7,14
ARR77IF 2¢/m Dayz-4 21
AIWVRTZF v AUC=1.5 Day2-4
I hrERIF 75mg/m Day2-4
RIT(375) &%=
EAREA RAE ®5H 12— x#MR(8)
IRVE D 375mg/m Dayl 7
RIT-MTXBE TR -
EAREA = ®5H 12— x#MR(8)
o< 7 (88%) 25mg| Day1,4,8,11,15,18,22,25 28
AhMLFY—+ (BEE) 12mg Day4,11,18,25
R-MPVE %
ERAZEA RE ®5H 1a—XHEME(R)
Jyxo<7 375mg/m Dayl
X MrLFH—F 3500mg/m Day?
TaHINRY 100mg/m Day2-8 1
(FHa—RDH)
e URFv 1.4mg/m Day?2
V-CAPE %
EFEES RE ®5H 1a—XHME(8)
RILTYV I (KT) 1.3mg/m Dayl,4,8,11
YORAKRRT7 7 IR 750mg/ m Dayl ’1
NE IR % 50mg/ m Dayl
L R=vav 100mg Dayl-5
VR-CAP# %
EARZEEA = ®5H 10— x#/R(8)
BTV I7 (EF) 1.3mg/m Day1,4,8,11
JRE Ay 375mg/m Dayl
S HoAKRRT 7 IR 750mg/ nt Dayl 21
NE IR % 50mg/ m Dayl
L r=vov 100mg Dayl-5
F Xy X< 7(1000)8 %
ERAZEA = % 5H 10— x#/R(8)
FEXYATT 1000mg Dayl 56
27 FU E>(0.09-7) k&%
ERAZEA RE % 5H 10— x#M[H(8)
72l NUN <% 0.09mg/kg Dayl-7 28
77 K1) Ev(0.12-5) &%
ERAZEA RE ®5H 10— X #[E(8)
77 K)EY 0.12mg/kg Dayl-5 28




Ty 7 (1.8)EL

fE A EH = ®5H 13— =HM(H)
Ty 1.8mg/kg Dayl 21
Ny LAF > (120-2)F %
SRR EEA = ®5H 13— =HE(H)
Ny BLATF Y 120mg/ni Dayl,? 21




